DU BSc Physical Education N Sports Sciences

Topic:- DU_J18_BDC_PE

1) Which of these is not considered as a nutrient?
99 A FH AT NS I g1 7T AT 22
[Question ID = 6199]

1. Vitamins/faeTf®A [Option ID = 24788]

2. Fiber/WT3aR [Option ID = 24787]

3. Fats/ddT [Option ID = 24790]

4. Minerals/@fsT ety [Option ID = 24789]

Correct Answer :-
o Fiber/®TgeR [Option ID = 24787]

2) Which of the following bio-motor ability is considered most difficult to improve?
o & A $19 A Irl-HieR &mar B JURA  qad Giwd A1 orr 82
[Question ID = 6228]

1. Speed/Tfd [Option ID = 24905]
2. Flexibility/Sr=eTa= [Option ID = 24903]
3. Stability/fRRdT [Option ID = 24904]
4. Strength/<If& [Option ID = 24906]

Correct Answer :-
«  Speed/Td [Option ID = 24905]

3) Which of the following has least to do with motivation system?
frafafEa & S 91 9o yunel & 91y FH F FH HIAT 82
[Question ID = 6283]

1. Habit/3{Tqd [Option ID = 25124]
2. Drive/ddT T [Option ID = 25123]
3. Need/sT2Xd [Option ID = 25126]
4. Motive/SRUT [Option ID = 25125]

Correct Answer :-
« Habit/3{lqd [Option ID = 25124]

4) Which of the following highest Honour is given for achievement in Sports in India?
|a ® Iuatsy ¥ forg Fafiea & & $19 91 YRa &1 89 9 §
[Question ID = 6271]

1. Rajiv Gandhi Khel Ratna Award/3Tsiid et e Id@ GRBR [Option ID = 25076]
2. Dhyan Chand Award/#dT 9 GRE&PR [Option ID = 25075]

3. Dhronacharya Award/%‘,h:ﬁmfw [Option ID = 25078]

4. Arjun Award/3/S[F qR¥BR [Option ID = 25077]

Correct Answer :-
« Rajiv Gandhi Khel Ratna Award/X ofig mieh W Xd YRIDPR [Option ID = 25076]

5) Which of the following physiological changes does not occur due to ageing?
I 751 ¥ BRI FEfaf@d & @ 9 J IR giiadT T8 8 82

[Question ID = 6216]



1. Number of brain cells decreases/Af&Tes HIfRHTH Bt TS HH 81 Wil & [Option ID = 24857]
2. Digestive reflexes slow down/dT=q ufafse i g siar g [Option ID = 24856]

3. Heart size decreases/f<d &1 SMHR ged %‘ [Option ID = 24858]

4. Bones shrink in size and density/8f¥al PR 3R ¥ & figrsd § [Option ID = 24855]

Correct Answer :-
« Heart size decreases/fd &1 STHR el % [Option ID = 24858]

6) Which of the following asana is helpful in Asthema?
Sreyr # frrafufed & § @19 91 39 I8 82
[Question ID = 6204]

1. Tadasana/dTSTd [Option ID = 24808]
2. Vakrasana/dsh T8 [Option ID = 24810]
3. Sukhasana/g@TH- [Option ID = 24807]
4. Vajrasana/dsITd- [Option ID = 24809]

Correct Answer :-
» Sukhasana/J@rH- [Option ID = 24807]

7) Which of the following games were previously called ‘British Empire Games'?
Frafafea & 3 fra 9 #) vea Hife=r amrsa B a1 o ur?
[Question ID = 6270]

1. Southeast Asian Gamesﬂrﬁ@@mﬁ@ﬁ [Option ID = 25072]
2. Olympic Games/37ifcifiies Wall [Option ID = 25073]

3. Commonwealth Games/ITFHS® @el [Option ID = 25074]

4. East Asian Games/Jd TRR/TE Jaf [Option ID = 25071]

Correct Answer :-
« Commonwealth Games/JTFHSd Wd [Option ID = 25074]

8) Which of the following is not considered as a corrective measure for flat feet?
fFrafafaa & 9 o9 91 W W & g JuRas U & w9 & 7Y a1 Srar 82
[Question ID = 6210]

1. Walk on heels and toes/ﬁ QTS‘T & Tsﬁ 3R R P Jufernt W Tl [Option ID = 24832]
2. Walking on wooden staircasemﬁ Ed ?ﬁ%ﬂﬁ TR I [Option ID = 24833]

3. Pick up marbles with toes/IR @ Il I TTY TR JaT3 [Option ID = 24831]

4. Perform a Trikonasana/Te B®HRIT B¢ [Option ID = 24834]

Correct Answer :-
« Perform a Trikonasana/Te& FHTE &3 [Option ID = 24834]

9) Which of the following is not true?
39 q B T 0E A 22
[Question ID = 6217]

1. Stroke volume of women is lesser than men/Ge8I &t gaT & &8 Afgansil Bt e HEAT [Option ID = 24859]

2. Body fat % in women is higher than men/Afgensit ¥ TR % T Bt o & 1% & [Option ID = 24861]
3. Heart rate of women is higher than men[ﬂ?ﬂﬁ Eil SR o mfganatt ot Y TIfd [Option ID = 24860]

4. Strength is equal in men & Womenﬂﬂ?ﬁﬁ 3R afgamstt & qred SRR § [Option ID = 24862]

Correct Answer :-
« Strength is equal in men & women/q&ST 3R Afgemail H ATehd SRTSR T [Option ID = 24862]

10) Which of the following is not a standing asana?
e | Si9 a1 Rrl o T8 82

[Question ID = 6203]



1. Padmasana/UsI{- [Option ID = 24806]

2. Tadasana/dTST¥ [Option ID = 24805]

3. Garudasana/TR=gId- [Option ID = 24803]

4. Ardha Chakrasana/G{%ﬁﬂW [Option ID = 24804]

Correct Answer :-
» Padmasana/JsITd [Option ID = 24806]

11) Which of the following is the first step in sports programming?
TR # WS 9 9T TS @R § § S 1 HeH 82
[Question ID = 6295]

1. Budgeting/dsic [Option ID = 25174]
2. Staffing/XeIUhT [Option ID = 25172]
3. Directing/f3=M [Option ID = 25171]
4. Planning/tﬁTrFiT [Option ID = 25173]

Correct Answer :-
« Planning/gISHT [Option ID = 25173]

12) Which of the following shall not be considered as a unit of organization in an intramural programme?
fFrafafaa & Q $i9 91 SergRa DU ® W6 $ 3913 & w0 F T8 1 e

[Question ID = 6197]

1. An intact class/Udh dRHIR HET [Option ID = 24779]

2. A house/Ud ©R [Option ID = 24780]

3. A class section/Ud ®&fT TS [Option ID = 24782]
4. A peer group/ U& WgHH! TUE [Option ID = 24781]

Correct Answer :-
« A peer group/ Tdh ﬂ%ﬁﬂ'&% [Option ID = 24781]

13) Which of the following is an apex body for Olympic Games?
e Jat & R FafafEa & S 9w i e 32
[Question ID = 6241]

1. OCA/3M..T [Option ID = 24955]
2. 1CC/ 3. 1.3 [Option ID = 24957]
3. 10C/37E. 3. [Option ID = 24956]
4. FIFA/TIHT [Option ID = 24958]

Correct Answer :-
« 10C/318. 3.4t [Option ID = 24956]

14) Which of the following is an example of an intellectual disability?
ot & @ o9 a1 S siermar 1 T e 32
[Question ID = 6205]

1. ADHD/T St T &1 [Option ID = 24812]

2. Mental Retardation/ATRI® Hedr [Option ID = 24813]

3. Autistic spectrum disorders/3fffefed @a@n f®R [Option ID = 24814]
4. Dyslexia/fS¥AfRTT [Option ID = 24811]

Correct Answer :-
« Mental Retardation/AMfId Ha&dT [Option ID = 24813]

15) Which of the following minerals deficiency causes goiter
e 9 | $19 W @ e 1 $H Migex &1 R T §

[Question ID = 6280]



1. Sodium/afsaH [Option ID = 25113]
2. Calcium/STeRIaH [Option ID = 25114]
3. Iron/3{TARA [Option ID = 25111]

4. Todine/3TATSH [Option ID = 25112]

Correct Answer :-
« Todine/3MAISIF [Option ID = 25112]

16) Which of the two therapies do contrast-bath combine?
P A S IUEAR JIY-TTH BT TS BTl 82
[Question ID = 6289]

1. Electro therapy and naturopathy/sﬁfﬁj Rt 3R Fafife Fafean [Option ID = 25150]
2. Hydrotherapy and thermo therapy/?l%@w 3R AT ARt [Option ID = 25148]

3. Diathermy and cryo therapy/STIGRH! 3R w1aT 2RUY [Option ID = 25147]

4. Cryo therapy and thermo therapym AR 3R ot Al [Option ID = 25149]

Correct Answer :-
« Cryo therapy and thermo therapy/sTal 24T 3R YHf AT [Option ID = 25149]

17) Which of these factors raises osteoporosis risk in women?
TTH A $H AT FR Afgensi A AReaaRIRG 1 i Ia1a1 82
[Question ID = 6262]

1. Late menopause after age 52/52 HTel FAERY ?Trﬁﬁqﬁf [Option ID = 25040]

2. Taking hormone replacement therapy/gM- UfaRTa fefaseam AT [Option ID = 25041]
3. Early menopause before age 45/45 9T ¥ Ugd URNS ISAT-ghT [Option ID = 25039]
4. Having a BMI over 19kg/m2/19kg/m?2 ¥ 3if¥/s SuH3TS € P TG [Option ID = 25042]

Correct Answer :-
« Late menopause after age 52/52 dTcT & TG R I 31@ N [Option ID = 25040]

18) Which one of the following is macro nutrient?
9 A 9 I1 Ao GYD T 72
[Question ID = 6237]

1. Water/ait [Option ID = 24942]

2. Vitamin/fdeT®H [Option ID = 24940]
3. Protein/SdH [Option ID = 24939]
4. Mineral/@f=sT [Option ID = 24941]

Correct Answer :-
« Protein/HId [Option ID = 24939]

19) Which is not the social barrier of sports participation of females?
afgersit ¥t Qe urlert & wrfie areur #i= @ =75 &2
[Question ID = 6239]

1. Religious faith/ﬂm S{TRIT [Option ID = 24949]

2. Literacy in the society/SHTS T FeRdr [Option ID = 24947]
3. Physical differences/IRIR® mavg [Option ID = 24950]

4. Male dominance/J®Y Y4 [Option ID = 24948]

Correct Answer :-
« Physical differences/X e Aave [Option ID = 24950]

20) Which one is measured to be a complete exercise of body?
TRR $T R A F3 F R et arar wimar g2

[Question ID = 6235]



1. Pranayama/YTUIATH [Option ID = 24932]

2. JogginngﬁﬁTI [Option ID = 24931]

3. Brisk walk/dsT I@T [Option ID = 24934]

4. Surya namaskar/ﬁ!f:{w [Option ID = 24933]

Correct Answer :-
* Surya namaskar[ﬁlfﬂw [Option ID = 24933]

21) Which theory of aggression offers some optimism in terms of reducing aggression?
STTHHAT B HH B & HHA § THTHS AT BT B T Ricgid $ MATAIE We- Sl 82
[Question ID = 6226]

1. The frustration-emotion theory[ﬁw-mﬁ?sﬂﬁ [Option ID = 24896]
2. The social learning theory/STHTore fR1&r fRiGid [Option ID = 24897]
3. The instinct theory/gRT Rigid [Option ID = 24895]

4. The catharsis theory/®% 4RI Rigid [Option ID = 24898]

Correct Answer :-
« The social learning theory/TaTRo fR1&0r RIGid [Option ID = 24897]

22) Which style of Kabaddi is officially recognized?
pagl Tt fra Aeh o1 snftreie R W wr=gar ure 82
[Question ID = 6258]

1. Samvahini/gHaTfgt [Option ID = 25024]
2. Circle./d [Option ID = 25026]

3. Sanjeevani/siia=t [Option ID = 25025]
4. National/TS1g [Option ID = 25023]

Correct Answer :-
« Sanjeevani/gsiia [Option ID = 25025]

23) Which country, in the history of hockey, scored maximum number of goals against their opponents?
giot & gfaera § fd 32 7 oA faRIft & faemw siftreaw e fee?
[Question ID = 6257]

1. India/2f&AT [Option ID = 25019]

2. Pakistan/dTfadT [Option ID = 25020]
3. Holland/gTd's [Option ID = 25021]

4. Germany./STHAT [Option ID = 25022]

Correct Answer :-
« India/3f&a1 [Option ID = 25019]

24) In isometric contraction, the muscle
; Eﬁ; . B mrerdfdt &
[Question ID = 6264]

1. Neither shortens nor lengthens/9 a1 BleT HRaT % AR gt dar [Option ID = 25049]
2. Shortens as well as lengthens./BTeT $3dT § F1Y g e [Option ID = 25050]

3. Shonens/%ﬁ?[aﬂ?ﬂ% [Option ID = 25047]

4. Lengthens/SaT ST § [Option ID = 25048]

Correct Answer :-
« Neither shortens nor lengthens/= oY BTeT BT § 3fR 7 &1 &el [Option ID = 25049]

25) Which of the following are involved in injuries called sprain
Frafafea & & o ao= § e §

[Question ID = 6287]



1. Bones/8fgdl [Option ID = 25140]

2. Tendons/<& [Option ID = 25139]

3. Ligaments/&gs& [Option ID = 25142]

4. Blood vessels/ad ATfgHIY [Option ID = 25141]

Correct Answer :-
« Ligaments/&gsiY [Option ID = 25142]

26) To a sprained ankle, do not apply an ice pack for more than
TS T §U eEH & frg,  ftrs gy & fore oiF O ar] 78 F3d §
[Question ID = 6290]

1. 15-20 minutes/15-20 e [Option ID = 25153]
2. 5-10 minutes/5-10 f&Fe [Option ID = 25151]

3. 10-15 minutes/10-15 e [Option ID = 25152]
4. 20-30 minutes/20-30 f&Fe [Option ID = 25154]

Correct Answer :-
« 20-30 minutes/20-30 e [Option ID = 25154]

27) Scoliosis is a postural deformity related with—

[Question ID = 6253]

1. Leg/Ti"T [Option ID = 25004]

2. Hand/gT¥ [Option ID = 25006]

3. Vertebral column/aféaﬁav"vrﬁq [Option ID = 25005]
4, Foot/TR [Option ID = 25003]

Correct Answer :-
« Vertebral column/afésia ®iaH [Option ID = 25005]

28) When is the International Women'’s Day celebrated worldwide?

SRy afgen feaw gfan wR & w9 wamar sirar 82
[Question ID = 6211]

1. 8-Mar/8 | [Option ID = 24836]
2. 8-Jun/8 S [Option ID = 24838]

3. 8-Feb/8 &R} [Option ID = 24837]
4. 8-Apr/8 33d [Option ID = 24835]

Correct Answer :-
« 8-Mar/8 HTS [Option ID = 24836]

29) A disability may not be present in which of the following?
ey 3 @ e Reanra fvg T8 8 I&dl 3?2
[Question ID = 6249]

1. Continence, dexterity or physical coordinationfAaRdT, FgUrdT a1 IRIR® TH=T [Option ID = 24988]
2. Social InteractionTHIRNE FUdh [Option ID = 24987]

3. Speech, hearing or eyesightHTyUT, wﬁme@ [Option ID = 24989]

4. Mobility, perception or memoryTrﬁ'-‘ZﬁT“IﬂT, YR 7 @ﬂ?f [Option ID = 24990]

Correct Answer :-
« Social InteractiongTHIfST® TUd [Option ID = 24987]

30) Lordosis is also called
st Bt Wt g T @

[Question ID = 6209]



1. Round back/I137S S [Option ID = 24827]
2. Back curve/Sd@ g [Option ID = 24830]

3. Lateral back/d% 8 [Option ID = 24829]
4. Hollow back/8'dl S [Option ID = 24828]

Correct Answer :-
« Hollow back/gIell §% [Option ID = 24828]

31) Identify the bone injury:
[Question ID = 6218]

1. Sprain/HI= [Option ID = 24863]

2. Green stick/UTH ¥ [Option ID = 24865]
3. Laceration/TIIRRI [Option ID = 24866]
4. Strain/d=Td [Option ID = 24864]

Correct Answer :-
« Green stick/3 & [Option ID = 24865]

32) Best method to enhance explosive strength in lower extremities is
e firwl & Rewies 3fH #) 9o F g a9 st fafr @
[Question ID = 6266]

1. Bounding training and depth jumpsfuﬂB‘%T[ TfRgor ﬁ?%ﬂéw %‘ [Option ID = 25057]
2. Long distance running/?iiﬁ @?ﬁ E‘ﬁ@' [Option ID = 25055]

3. Mud running./AS Td 8T &1 [Option ID = 25058]

4. Sand runningﬁﬂ EREGIE [Option ID = 25056]

Correct Answer :-

« Bounding training and depth jumps/STSTET TfR1&MT 3R TTeT8 Faar 8 [Option ID = 25057]

33) According to the training experts, strength gains come largely through
ufRreror fausl & garaw, died a1y ST g6 a® SiMd &
[Question ID = 6227]

1. Isometric exercises/&ﬂs@m MgMH [Option ID = 24901]
2. Dips and squats/ST0 3R Thee [Option ID = 24900]

3. Weight training/as= URI&TT [Option ID = 24902]

4. Uphill running/SfCI'EﬁﬁaTS' [Option ID = 24899]

Correct Answer :-
« Weight training/dsi Tfremor [Option ID = 24902]

34) According to Newton'’s second law of motion, Acceleration
e & T F G S, T & AR
[Question ID = 6222]

1. Does not depend on mass/<IHIT TR ﬁﬂ'\’:@% [Option ID = 24881]

2. Is directly proportional to mass/sedH & forg W SUTfde § [Option ID = 24879]
3. Is divided by mass/&e0dH ¥ faHTRIG § [Option ID = 24882]

4. Is inversely proportional to mass/ScaHT ¥ faumdta &HQTW % [Option ID = 24880]

Correct Answer :-
« Is inversely proportional to mass/SeaH & fAuRid STUTfaes & [Option ID = 24880]

35) ADHD stands for
.. o1 udae @

[Question ID = 6206]



1. Attention Deficit Hyper Disorder/€T HTcT TR fETsiie [Option ID = 24815]

2. Attention Deficit Hypo Disorder/&dT- HTcT Eﬁcﬁ fawR [Option ID = 24816]

3. Attention Deficit Hyperactivity Disorder/€dT- 3THTd ichadt fadR [Option ID = 24817]
4. Attention Deficit Hypoactive Disorder/¢dT ©TeT g18U! Widhadl fd®R [Option ID = 24818]

Correct Answer :-
« Attention Deficit Hyperactivity Disorder/®T 3T HfohadT fd®R [Option ID = 24817]

36) India participated in Olympic Games for the first time in
YRA A Ul 9R 3ieifue @l & e fern

[Question ID = 6236]

1. 1896 [Option ID = 24935
2. 1904 [Option ID = 24937

3. 1900 [Option ID = 24936

]
]
]
4. 1924 [Option ID = 24938]

Correct Answer :-
» 1900 [Option ID = 24936]

37) Ball and Socket type of Joint is—
14 3R Tidbe TfY gaR-
[Question ID = 6250]

1. Bi - axial joint/%—a{&ﬁqﬂ.ﬂﬁﬁ [Option ID = 24993]
2. Tri-axial joint/f-31eld ¥Yeri [Option ID = 24994]
3. Fixed joint/Mf3d ¥ga [Option ID = 24991]

4. Uni-axial jointw-a&ﬁﬁﬁ'ﬂﬁﬁ [Option ID = 24992]

Correct Answer :-
« Tri-axial joint/&-31&f ¥gad [Option ID = 24994]

38) “"Home Run” is associated with :
R EE o
[Question ID = 6274]

1. Badminton/sfe [Option ID = 25089]
2. Baseball/saTd [Option ID = 25090]

3. Acquatics/Qﬁ?f?W [Option ID = 25088]
4. Athletic/TYTfCaT [Option ID = 25087]

Correct Answer :-
« Baseball/S¥&Id [Option ID = 25090]

39) “Training adaptations only take place if the training stimulus is greater than the habitual stimulus” is the principle of

"SRG Hefed Shael O Gidl § o1@ WRIETTT ScoeieAl Had ScoerT # 30w 3
@ g &

[Question ID = 6242]

1. Progression/STfd [Option ID = 24960]

2. Specificity/faRdT [Option ID = 24959]

3. Overload/3ffIHR [Option ID = 24961]
4. Reversibility/3Te 3{dT Gae aradl [Option ID = 24962]

Correct Answer :-
« Progression/STfd [Option ID = 24960]

40) “Sprain” is a type of



"FU" U W O B

[Question ID = 6220]

1. Bone injury@ﬁ e [Option ID = 24871]

2. Tendon injury/&% &1 A [Option ID = 24873]

3. Ligament injury/feFTiHe e [Option ID = 24872]

4. Muscle injury/HTEUfRI @1 e [Option ID = 24874]

Correct Answer :-
« Ligament injury/ferTe e [Option ID = 24872]

41) is not the part of Periodization in sports training
Qe uikeor & arqfy o1 R A€ @
[Question ID = 6243]

1. Fitness phase/¥aTRY TRUT [Option ID = 24965]

2. Transitional phaseNWUﬁﬂ?ﬁ? TRUT [Option ID = 24963]
3. Competitive phasequa?q%ﬁm [Option ID = 24966]

4. Preparatory phase/JRf%e @RUT [Option ID = 24964]

Correct Answer :-
» Fitness phase/¥XdT®4 TRUT [Option ID = 24965]

42) Sphygmomanometer is used to measure—
farmer &1 IuahT AR ¥ fore fan ST 2-
[Question ID = 6254]

1. Blood Pressure/Xdd d4 [Option ID = 25009]

2. Blood Volume/&d &1 AT [Option ID = 25010]

3. Blood Haemoglobin/Iad ARETSA [Option ID = 25007]
4. Blood Cholesterol/Xad ®IeREId [Option ID = 25008]

Correct Answer :-
« Blood Pressure/Xdd 91U [Option ID = 25009]

43) First law of motion is also called

Tf & Uge ST B

[Question ID = 6263]

ft gemar siaT @

1. Law of transference of momentum./‘TT:d & SR BT BI-A1 [Option ID = 25046]
2. Law of conservation of energy/Gw'_\flfﬁ TREIUT BT BT [Option ID = 25044]

3. Law of inertia/STSdl T BId [Option ID = 25045]

4. Law of action and reaction/ﬂv‘ﬁ?iﬁ' 3R ufaferar o1 BII [Option ID = 25043]

Correct Answer :-
o Law of inertia/STSdl T @17 [Option ID = 25045]

44) I.A.A.F. stands for
LAAF. ¥ RmEsT
[Question ID = 6259]

1. International Amateur Athletics Federation/ZeR-RMd THER TYAfeRT B8R [Option ID = 25027]

2. Indian Amateur Athletics Federation/3f$T TH=IR TyAfed B8R [Option ID = 25028]

3. Indian Association of Athletics and Field events/'s:“%CF{ QT?@FQ‘-‘ZF[ 3T Q?—Iﬁﬁﬂiﬂ B séw [Option ID = 25029]
4. International Association of Athletics Federationsfqiﬁf??ﬁ[ e & GI?R‘T'QTJ Y [Option ID = 25030]

Correct Answer :-
« International Association of Athletics Federations/TUafeeRy ThaeH & QHT@HW [Option ID = 25030]

45) Who amongst the following are found to be most agile?



fFrafafea & @ $19 9a it g uran Srar 82
[Question ID = 6252]

1. Gymnasts/ﬁlw [Option ID = 25000]

2. Divers/TdR@R [Option ID = 25002]

3. Swimmers/ﬁ?lﬁ [Option ID = 25001]

4. High Jumper AthIete/E'|§ SR TYTIE [Option ID = 24999]

Correct Answer :-
« Gymnasts/fSTHARE [Option ID = 25000]

46) Who among the following is the first Indian to score a century in Indian Premier League (IPL)?
g WiftraR i (endfia) & A @ 91d ted yRdE B 82
[Question ID = 6269]

1. Manish Pandey/H =¥ T7S [Option ID = 25068]

2. Gautam Gambhir/TaH TiHR [Option ID = 25067]
3. Sachin/dfeH [Option ID = 25069]

4. Rahul Dravid/Jgd %fd$ [Option ID = 25070]

Correct Answer :-
« Manish Pandey/AIY TS [Option ID = 25068]

47) If the muscle tension sustain anger, it will produce.
gfe AiTURTt 99TE AAR Cor et 8, &) T8 Sted S|
[Question ID = 6285]

1. Mental distress/fSHATT TR [Option ID = 25133]

2. Aches and pains/&¢ Td TIST [Option ID = 25134]

3. Muscle sorenessﬂiﬂﬂﬁlﬁﬁa?f [Option ID = 25132]
4. Muscle tear/ARTURMN 3 [Option ID = 25131]

Correct Answer :-
« Aches and pains/c< Td TST [Option ID = 25134]

48) How many gold medal India won at 2018 CWG?
2018 .35 H YRd A foran ol ges ofia?

[Question ID = 6230]

1. 22 [Option ID = 24911]
2. 26 [Option ID = 24913]
3. 25 [Option ID = 24914]
4. 30 [Option ID = 24912]

Correct Answer :-
e 26 [Option ID = 24913]

49) To which sports 360 degree form is associated with
360 &0 wid” {59 Qa A o151
[Question ID = 6275]

1. Hockey/gTaT [Option ID = 25092]
2. Gymnastics/fSTHATRE® [Option ID = 25091]

3. Diving/Tid TR [Option ID = 25093]
4. A and C/T 3R T [Option ID = 25094]

Correct Answer :-
« Aand C/T 3R ¥ [Option ID = 25094]

50) Hemoglobin is found in



YA o urar Srar @
[Question ID = 6294]

1. Platelets/@caied [Option ID = 25169]

2. White Blood Corpuscles (WBC)/®TS¢ &8 HIU¥Hd (S&galNit) [Option ID = 25168]
3. Red Blood Corpuscles (RBC)/dITdl Yad hI0Hehd (3R [Option ID = 25167]

4. Bone marrow/HIT [Option ID = 25170]

Correct Answer :-
« Red Blood Corpuscles (RBC)/dTd & 1aded (SIRE™T) [Option ID = 25167]

51) Instinct Theory of Motivation was propagated by:
RO Ft Tew Rigia &1 vaR o w o
[Question ID = 6281]

1. Watson/dTcd- [Option ID = 25116]

2. Henry Murray/8_! HX [Option ID = 25118]

3. Hull CIark/EﬁW [Option ID = 25115]

4. Charles Darwinﬁﬂ?&‘f@ﬁ‘[ [Option ID = 25117]

Correct Answer :-
o Charles Darwin/?lT&Ef Sifa [Option ID = 25117]

52) Milk is the good source of
Y ST W @
[Question ID = 6246]

1. Vitamin C/fdeTf® ¥t [Option ID = 24975]
2. Vitamin k/faeTf¥F & [Option ID = 24976]
3. Vitamin B/fdeTfi &t [Option ID = 24978]
4. Vitamin B 12/fdeTf®= & 12 [Option ID = 24977]

Correct Answer :-
« Vitamin B 12/fdeTff9 st 12 [Option ID = 24977]

53) If 8 teams are participating in a competition, the number of knock-out matches will be
gfe 8 A YT A T §, A -3 A4l FY = gt
[Question ID = 6198]

1. 7 [Option ID = 24785]
2. 9 [Option ID = 24786]
3. 8 [Option ID = 24784]
4. 16 [Option ID = 24783]

Correct Answer :-
e 7 [Option ID = 24785]

54) Rovers Cup is related to which of the following sports?
v wu e ¥ & fra @ @ weifta @2
[Question ID = 6231]

1. Hockey/gTaT [Option ID = 24917]

2. Cricket/fsrapre [Option ID = 24916]
3. Tennis/<¥ [Option ID = 24918]

4. Football/eaTd [Option ID = 24915]

Correct Answer :-
« Football/esiel [Option ID = 24915]

55) An abnormal increase in the thoracic curvature of the vertebral column is called:



PATP! WH & RS apd1 § SR gl B HeT 1am 8:
[Question ID = 6208]

1. Kyphosis/@esIdl [Option ID = 24826]

2. Scoliosis/W%]W’cﬂ [Option ID = 24823]

3. Lordosis/3fd&esIdl [Option ID = 24825]

4. Spina bifida/¥aE faftheT [Option ID = 24824]

Correct Answer :-
» Kyphosis/@esidl [Option ID = 24826]

56) Sports participation develops
Qe Hrfierd fefa et @
[Question ID = 6245]

1. Tolerance to injuries/@e! & foY ATGWIAT [Option ID = 24974]
2. Self-discipline/3{TH IR [Option ID = 24971]

3. Introvert behavior/x’ri?lé:@w [Option ID = 24972]

4. Physical fatigue[-‘ZlﬁTW YhT- [Option ID = 24973]

Correct Answer :-
« Self-discipline/3{T&d IR [Option ID = 24971]

57) A contemplative and conceptual exercises aiming to set up objectives and goals and determining ways and means to achieve them is
Il SR T8 P RITFIT B 3R IR U H1 & Aiap! S AreAT &) Fruifyd $e7 & Stxy @ ve Riaa=ia ok duive snaw @
[Question ID = 6196]

1. Directing/fA&= [Option ID = 24775]
2. Controlling/F&f3TT [Option ID = 24777]
3. Organizing/\’rrrcﬁ\—rl:{ [Option ID = 24778]
4. Planning/f@ISi [Option ID = 24776]

Correct Answer :-
« Planning/faISH [Option ID = 24776]

58) Warming up and warming down help exercisers and athletes to
JWITH B ATl 3R Tyl &) arf¥fr arg 3R aff ST+ weg Hear @
[Question ID = 6286]

1. Keep their body and mind released./3/0= IR 3R fGHRT Y SRt I | [Option ID = 25138]

2. Prevent injury and enhance performance/iﬁ'c’ P AP 3R yeH B gl [Option ID = 25137]
3. Avoid being ill and sick/§TAR 3R §HR g1 § s [Option ID = 25136]

4. Improve their performance skills/37% U&= BHIRA H YR B [Option ID = 25135]

Correct Answer :-
« Prevent injury and enhance performance/dIe @1 Jeb 3R Tex(H &Y §gTT [Option ID = 25137]

59) SPD stands for
. 1.3t &1 Adaa @
[Question ID = 6207]

1. Special Psychological Disorder/fa=I% F=iasTe fadeR [Option ID = 24822]
2. Sensory Psychological Disorderﬁiﬁmm [Option ID = 24819]
3. Sensory Processing Disorder/?ia?ﬂw fawr [Option ID = 24820]

4. Socio Psycho Disorder/STHIN® HIge! f[d®R [Option ID = 24821]

Correct Answer :-
« Sensory Processing Disorder/Ide! URRUT fa@R [Option ID = 24820]

60) Chair stand test for senior citizens fitness measures



IR W T g RS F fvw e s R

[Question ID = 6214]

1. Aerobic endurance/@ifd® Tg-ifad [Option ID = 24850]

2. Upper body strength/EEIﬂ TRR & Al [Option ID = 24847]
3. Lower body flexibility/f=r@T IR A=A [Option ID = 24848]
4. Lower body strength/&H YRR @ Ufad [Option ID = 24849]

Correct Answer :-
* Lower body strength/®H X R 3 g [Option ID = 24849]

61) A habitual desire to achieve goals through one’s individual effort may be termed as:
foreft & safeRTa T & aTerd | T B YT HA B 3ATed P ST B 39 UPR HT o Fhal 3
[Question ID = 6282]

1. Cognitive Motivation/S=IHTdH® RO [Option ID = 25119]

2. Achievement Motivation/B‘lJﬂfTsE\I EARCRIN [Option ID = 25120]
3. Stress/dH1d [Option ID = 25121]

4. Drive/ddT T [Option ID = 25122]

Correct Answer :-
« Achievement Motivation/3Udfs @ RO [Option ID = 25120]

62) Itis the period of hyperactivity and rebelliousness
Tg ifa afeaar ok figie ¥t eafy @
[Question ID = 6247]

1. Adulthood/da¥ T [Option ID = 24981]

2. Late adolescence/cR fRIRTGRT [Option ID = 24982]

3. Pre adolescence/gd fa=IRTERT [Option ID = 24980]

4. Early adolescence/TRfYS fHaRTaRT [Option ID = 24979]

Correct Answer :-
e Pre adolescence/gffﬁﬂﬁﬂﬂ?ﬂ [Option ID = 24980]

63) Power, coordination and agility are the components of
e, T9ag 3R Iuedr & UeP &
[Question ID = 6248]

1. Health/¥aT®Y [Option ID = 24984]

2. Wellness/&edTul [Option ID = 24983]

3. Physical ability/XIRe &FdT [Option ID = 24986]
4. Physical fitness/STRIR@ fhe=q [Option ID = 24985]

Correct Answer :-

* Physical fitness/R ik et [Option ID = 24985]

64) Variola major causes which diseases?
R B It St w1 ygE FR
[Question ID = 6233]

1. Malaria/AQaT [Option ID = 24925]

2. Small pox/BTeT Giad [Option ID = 24926]
3. Measles/RT [Option ID = 24924]

4. Chicken pox/aa@ [Option ID = 24923]

Correct Answer :-
« Small pox/&TeT Ui [Option ID = 24926]



65) Why regular participation in physical activities enhances children self esteem?

TR nfafafiRral & Frafa uriierd) «b) o= @) sireT W= 9erdl 82

[Question ID = 6284]

1. Provide opportunity for social gathering/JTATRSTE THT & folT 3/@¥R UG %X [Option ID = 25129]
2. Provide recreation/HRSH UG &Y [Option ID = 25130]

3. Enhances physical developmentmwmﬁqﬁm %‘ [Option ID = 25128]

4. Because physical education motivates/dife TR Rrem IRd Bl § [Option ID = 25127]

Correct Answer :-
« Enhances physical development/RTRifte fasrr & gfe F=aT & [Option ID = 25128]

66) International Yoga day is celebrated on
TN e A ST §
[Question ID = 6234]

1. 20 July/20 &S [Option ID = 24930]

2. 29 August/29 I [Option ID = 24927]
3. 24 April/24 3 [Option ID = 24929]

4. 21 June/21 S [Option ID = 24928]

Correct Answer :-
e 21 June/21 ST [Option ID = 24928]

67) What type of bones performs the function of giving strength?
5T YR @ gf3al arha 31 BT B1d Hedl 82
[Question ID = 6260]

1. Long bones/ddlt fgaT [Option ID = 25031]

2. Flat bones/aqe 8fgat [Option ID = 25033]

3. Short bones/BTcl §igal [Option ID = 25034]

4. Regular bones/aftrd 8fgal [Option ID = 25032]

Correct Answer :-
« Flat bones/aud! gfgal [Option ID = 25033]

68) Sachin Tendulkar hit his 100th international century against which team among the following?
e dgae 3 3 100 & AR waw fras e Fafafaa &0 &2
[Question ID = 6268]

1. Sri Lanka/#ft e [Option ID = 25063]

2. Pakistan/dTfe™ [Option ID = 25065]

3. Bangladesh/S@TG=T [Option ID = 25064]

4. South Africa/Gfar0T 37IBTeRT [Option ID = 25066]

Correct Answer :-
« Bangladesh/dTTaERI [Option ID = 25064]

69) Sit & reach test is for
e iR fmee fraFr R
[Question ID = 6229]

1. Strength/=1fad [Option ID = 24909]

2. Flexibility/@=i@rd= [Option ID = 24907]
3. Endurance/4 [Option ID = 24910]

4. Speed/TTid [Option ID = 24908]

Correct Answer :-
« Flexibility/@I@md= [Option ID = 24907]



70) Effects of regular exercise on heart rate in the long term

TeU T W T &1 SHa1ie YHE &
[Question ID = 6215]

1. Increases/Sgd! & [Option ID = 24852]

2. Alternate increases and decreases/d@fetd dgdl § 3R ¥edT § [Option ID = 24853]
3. No effect/dIs THIG &l [Option ID = 24854]

4. Decreases/®H &l STl & [Option ID = 24851]

Correct Answer :-
« Decreases/®H 8l Sl & [Option ID = 24851]

71) Slaughter-Lohman triceps & Calf skin fold formula for calculating body fat percentage for male
R P RIT e 3R STF IRR T71 UTA=Ia & 0T F AT feR-agie o198
[Question ID = 6213]

1. (0.610 x sum of skin fold) + 1.0/(0.610 x T T8 HI ANT) + 1.0 [Option ID = 24844]
2. (0.735 x sum of skin fold) + 5.0/(0.735 x Il ?I’s’ﬁTtﬁW) + 5.0 [Option ID = 24843]
3. (0.735 x sum of skin fold) + 1.0/(0.735 x o<l ﬂ’s’ﬁtﬁﬂ) + 1.0 [Option ID = 24846]
4. (0.610 x sum of skin fold) + 5.0/(0.610 x @1 T8 BT AT + 5.0 [Option ID = 24845]

Correct Answer :-
« (0.735 x sum of skin fold) + 1.0/(0.735 x @dT g T ANT) + 1.0 [Option ID = 24846]

72) Chronological age is calculated by?
FIATIH IS ST Bt TUFT {5 TSR I At 82
[Question ID = 6293]

1. Skin tone/wd &1 ¥ [Option ID = 25164]

2. Function of body/IRR T &7 [Option ID = 25163]
3. Mental exhaustion/AHfId Y&Tae [Option ID = 25166]
4. Calendar date/&aisR faf¥ [Option ID = 25165]

Correct Answer :-
« Calendar date/&dsR fafdf [Option ID = 25165]

73) Life style which does not help to prevent from diseases
St Aeft s Hahal § 999 & Weg T8 Fed €
[Question ID = 6292]

1. Eating healthy food/W% WA HRAT [Option ID = 25162]
2. Personal hygieneﬁﬂmw [Option ID = 25159]

3. Playing video game/dif&aY 11 W& [Option ID = 25161]

4. Regular exercise/Fafid ™ [Option ID = 25160]

Correct Answer :-

« Playing video game/dif&adl T W [Option ID = 25161]

74) The kind of malnutrition (OIN) stands for
U & YR (ASATSTT) FT Wdad §
[Question ID = 6200]

1. Oral-interval of nitrogen/:ﬂs_cﬁGF-{ F Oif® iRt [Option ID = 24794]
2. Oral-intake of nitrogen/-TEc o T ARG Ja [Option ID = 24792]

3. Oral-intake of nutrients/d¥e el BT Af@H Vg [Option ID = 24791]
4. Over-intake of nutrients/A15® dadl BT 34fdw Ja= [Option ID = 24793]

Correct Answer :-

« Over-intake of nutrients/dIves deal T 31 Yo [Option ID = 24793]



75) The blood plasma contains water to the extent of
A wSHT A e g
[Question ID = 6291]

1. 90% [Option ID = 25156]
2. 80% [Option ID = 25157]
3. 70% [Option ID = 25155]
4. 60% [Option ID = 25158]

Correct Answer :-
* 90% [Option ID = 25156]

76) The component of food which is the major energy supplier is

@Rl UeTd &7 Ues S THE Sl amyfeddl &
[Question ID = 6201]

1. Cellulose/IT@T [Option ID = 24795]

2. Amino Acid/TfeY TRYS [Option ID = 24797]
3. Protein/dé [Option ID = 24796]

4. Carbohydrate/@TaTgl3S¢ [Option ID = 24798]

Correct Answer :-
« Carbohydrate/@TagIgSe [Option ID = 24798]

77) The term which designates a deficiency in the amount of hemoglobin in the blood is

€ U3 Wil ¥ | HANaifed 3t A7 | St B Afdy sar g
[Question ID = 6288]

1. Acidosis/TRISIRA [Option ID = 25146]
2. Edema/Tf&HT [Option ID = 25144]

3. Atoxia/3TeIfaTaT [Option ID = 25145]
4. Anemia/3fFfET [Option ID = 25143]

Correct Answer :-
« Anemia/3fAfERT [Option ID = 25143]

78) The scapula bone is situated in

T gS) fRua @
[Question ID = 6267]

1. hip/®#HR [Option ID = 25060]

2. Leg/<H [Option ID = 25059]

3. arm./®TY [Option ID = 25062]

4. Upper back/3& %! Ui [Option ID = 25061]

Correct Answer :-
« Upper back/&U%I Ta [Option ID = 25061]

79) The school curricula should invariably be :

T UTSUhH gARM ffNard g1 TR e:
[Question ID = 6279]

1. Subject centered/fawa Fizd [Option ID = 25110]

2. Objective centered/3T Hfad [Option ID = 25108]
3. Activity centered/TTafafer Ff&d [Option ID = 25107]
4. Child centered/aTd %f&d [Option ID = 25109]

Correct Answer :-
« Child centered/aTa &f%d [Option ID = 25109]



80) The word asana refers to:

3T Treg; T Y 8

[Question ID = 6202]

1. A yoga pose or posture/Td IRT H&T A1 G&T [Option ID = 24799]
2. A breathing practice/Uc 4T 3TH [Option ID = 24800]

3. A chant/T& 4 [Option ID = 24802]

4. A relaxation technique/Ud fasm deiie [Option ID = 24801]

Correct Answer :-
* A yoga pose or posture/Tch T Hal A1 Y1 [Option ID = 24799]

81) The term libero is associated with/ﬁﬁlﬁ Rl AST 3T %
[Question ID = 6276]

1. Basketball/STreard [Option ID = 25095]
2. Soccer/gedrd [Option ID = 25098]

3. VoIIeybaIIFq’IT'ﬁEIW [Option ID = 25097]

4. Rugby/3%&t [Option ID = 25096]

Correct Answer :-
« Volleyball/aTeitaTa [Option ID = 25097]

82) The richest source of protein is—
WET &1 Jad ok o 2-
[Question ID = 6251]

1. Groundnut/JITHat [Option ID = 24996]
2. Egg/SiST [Option ID = 24998]

3. Pulses/qIdl [Option ID = 24995]

4. Soya bean/TITE [Option ID = 24997]

Correct Answer :-
« Soya bean/IRTelH [Option ID = 24997]

83) The concepts of teaching and learning which the teacher holds are inseparably bound up with:
Rrere & Rigor ok Wam #t srgurons’ & sifyursy wu 49 gu
[Question ID = 6278]

1. Values of the mankind/®d SIIfd F HeY [Option ID = 25104]

2. Values or goals of prime importance/UHd Hgd * He g1 d&d [Option ID = 25106]
3. National education policy/RT8Td fRIaf #ifd [Option ID = 25105]

4. Ethics of teaching profession/fRI&0T U= &t At [Option ID = 25103]

Correct Answer :-
« Values or goals of prime importance/9qd Hgd Ca Hed g1 & [Option ID = 25106]

84) The word personality comes from “persona”, which originally meant.

WIEg, SATFdd "EEae” § A/ ELEEE g9 79 § Adad

[Question ID = 6224]

1. That which one truly is/dg EICESER:] % [Option ID = 24890]

2. Soul/3f=: A [Option ID = 24888]

3. Theatrical mask/ATe g TIeT [Option ID = 24887]

4. The animal side of human nature/HTd EI’:EI%I F UR] Y& [Option ID = 24889]



Correct Answer :-

o Theatrical mask/W ﬂ'@?{ [Option ID = 24887]

85) The first step in the treatment of sports injuries is:
| el & ATl § U8l $eH 8:
[Question ID = 6219]

1. Thermotherapy/3H! fafd5edT [Option ID = 24870]
2. Electrotherapy/fagaa fafde [Option ID = 24869]
3. Hydrotherapy/STd fafdeT [Option ID = 24868]

4. Cryotherapy/mﬁlﬁo_:w [Option ID = 24867]

Correct Answer :-
« Cryotherapy/shTal fafdrea [Option ID = 24867]

86) The terms 'anterior and posterior' are synonymous with
"qdhTd 3R Uyt Wreg JuTST
[Question ID = 6261]

1. Lateral and medial/ar%f iR 3fFd [Option ID = 25037]

2. Lumbar and vertebrae/d R 3R HABHI [Option ID = 25038]
3. Verbal and dorsal/HiR% 3R gEIa [Option ID = 25036]

4. Frontal and back/drH 3R di [Option ID = 25035]

Correct Answer :-
« Frontal and back/dm= 3R H1& [Option ID = 25035]

87) The branch of mechanics that describes the cause of force is
I S SRV BT gl S 10 TITAPT $T ArEr @
[Question ID = 6265]

1. Kinematics/@MHdIaT [Option ID = 25052]

2. Kinetics/@1c1a [Option ID = 25051]

3. Biomechanics/@ﬂﬁﬁ [Option ID = 25053]

4. Fluid mechanics./a3d TifA®T [Option ID = 25054]

Correct Answer :-
« Kinetics/&ad [Option ID = 25051]

88) The term “Bishop” is related to.
e g HEfed &
[Question ID = 6232]

1. Hockey/81@! [Option ID = 24920]

2. Badminton/Ssftfe [Option ID = 24921]
3. Chess/RIdR [Option ID = 24919]

4. Golf/TMeW [Option ID = 24922]

Correct Answer :-
o Chess/RId¥s [Option ID = 24919]

89) The amount of blood pumped by heart in one beat is called—
TP IR § }a A 4u &Y 71 Yo BT U1 H1 JART Il 2-
[Question ID = 6256]

1. Stroke volume/3TeTd &I T [Option ID = 25016]
2. Residual vqume/&IHfQTQ HMEAT [Option ID = 25018]
3. Tidal volume/SaR &1 {1 [Option ID = 25015]
4. Blood volume/R&d @! AT [Option ID = 25017]



Correct Answer :-
« Stroke volume/3TeTd &1 AT [Option ID = 25016]

90) The chief excretory organ of the human body are
AT IR BT GBI ST 37T §
[Question ID = 6240]

1. Lungs/%%S [Option ID = 24952]
2. Valves/dTed [Option ID = 24953]
3. Skin/cddT [Option ID = 24954]

4. Kidneys/T& [Option ID = 24951]

Correct Answer :-
« Kidneys/T& [Option ID = 24951]

91) The saggital plane divides the body
IfeTed W IR B FFuTira war g
[Question ID = 6221]

1. Into upper and lower halves/3&TR} 3R f=rat fexai & [Option ID = 24876]
2. Into left and right sides/STq 3R T¢ f=R TR [Option ID = 24878]

3. Limb-wise/3T-aR [Option ID = 24877]

4. Lengthwise/ddT [Option ID = 24875]

Correct Answer :-
« Into left and right sides/sTq 3R 1T fTR W [Option ID = 24878]

92) The deficiency of insulin in the body causes
TR ® YRA Bt B BT FROT §q1 8
[Question ID = 6244]

1. Allergy/Tasif [Option ID = 24970]
2. Rickets/R&ed [Option ID = 24967]
3. Asthma/&HT [Option ID = 24969]
4. Diabetes/T4H® [Option ID = 24968]

Correct Answer :-
« Diabetes/HYHg [Option ID = 24968]

93) The acronym “NCTE" stand for
gfeeg =" "t AT e S & e
[Question ID = 6277]

1. National council of technical evaluation/d@=ieb! FFJW Hﬂ?‘l‘fm gRwg [Option ID = 25100]
2. National council of technical education/d@-1d! fRI&f B TfR¥e [Option ID = 25099]

3. National council of teacher education/fRi&r fRi&f 1 gy [Option ID = 25101]

4. National council of teacher evaluation/fRi&e Hedie 1 IAFTY GRS [Option ID = 25102]

Correct Answer :-
« National council of teacher education/fRi& fRi&f &I AP TRYS [Option ID = 25101]

94) The term "Dummy" is associated with
ez s ST g R
[Question ID = 6273]

1. Baseball/S&Td [Option ID = 25086]

2. Basketball/STRaedTd [Option ID = 25083]
3. Bridge/Ydl [Option ID = 25084]

4. Boxing/Ha%aTal [Option ID = 25085]



Correct Answer :-
 Bridge/Yel [Option ID = 25084]

95) The total number of test items in the famous Kraus Weber test is
TR I R UNEI0T & Udteiur SR 3 & po W g
[Question ID = 6212]

1. 5 [Option ID = 24839]
2. 4 [Option ID = 24841]
3. 3 [Option ID = 24842]
4. 6 [Option ID = 24840]

Correct Answer :-
« 6 [Option ID = 24840]

96) The term diamond duck is associated with
Teg ERT T’ ST §HT &
[Question ID = 6272]

1. Hockey/gTaT [Option ID = 25081]
2. Tennis/ef9 [Option ID = 25080]
3. Cricket/fde [Option ID = 25082]
4, Chess/RIdR [Option ID = 25079]

Correct Answer :-
« Cricket/fh®e [Option ID = 25082]

97) A motivated behaviour is directed towards:
TS IR IaeR o1 iR FERia far s @:
[Question ID = 6225]

1. Object/a¥q [Option ID = 24892]

2. Situation/aRFRUfT [Option ID = 24891]
3. Group/¥¥g [Option ID = 24894]

4. Goal/@&d [Option ID = 24893]

Correct Answer :-
» Goal/d&d [Option ID = 24893]

98) A movement around a joint that decreases the angle between the bones is known as
TS WIS & IR 3R TP eI St gl F & H101 H 3 Ha1 8, $ T A =1 SIar @
[Question ID = 6223]

1. Flexion/BdAa [Option ID = 24884]

2. Adduction/3{SRI- [Option ID = 24885]

3. Abduction/3fdSa [Option ID = 24886]
4. Extension/TacTH [Option ID = 24883]

Correct Answer :-
« Flexion/%aiaR [Option ID = 24884]

99) One deformity may lead to the development of another, knock knees may be caused as a result of—
T gl gk & e ot iR & wod! &, e 1o & TRUmRa=T 8 ¥9d o-
[Question ID = 6255]

1. Scoliosis/dTegestdT [Option ID = 25014]
2. Flat footm'ﬂﬁﬂﬁ? [Option ID = 25011]
3. Genu Legs/S R [Option ID = 25013]
4. Bow Legs/Hi TR [Option ID = 25012]



Correct Answer :-
« Bow Legs/S TR [Option ID = 25012]

100) One gram of carbohydrate provides calories/qmH Hﬂﬁﬂ?,%? PR veH AT g
[Question ID = 6238]

1. 11 [Option ID = 24946]
2. 4 [Option ID = 24944]
3. 2 [Option ID = 24943]
4. 9 [Option ID = 24945]

Correct Answer :-
o 4 [Option ID = 24944]



